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QUESTION 1

What configuration is needed to create Advance Shipment Notifications for a Transfer Order shipped between two
facilities configured in the same WMS Cloud environment?

A. The Facility parameter key AUTOLOAD_and_SHIP should be set to Yes.
B. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities Ul screen for the Source Facility.

C. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities Ul screen for the Destination
Facility.

D. Set CREATE_ASN_FOR_EACH_PO to YES at Source and Destination Facility levels.
E. Set CREATE_ASN_FOR_EACH_PO to YES at the Company level.

Correct Answer: C

QUESTION 2

Select two true statements about Group Configuration. (Choose two.)

A. Only the RF Menu uses the concept of Groups

B. Users can assign specific access to activities by using Group permissions

C. Permissions come already pre-assigned to standard Groups in the system and cannot be changed
D. Users must log out when switching Groups

E. User can belong to multiple Groups

Correct Answer: BE

QUESTION 3
What happens behind the flag Only deallocate on Short in the order type screen?
A. The Order Type has no impact on the Picking Process.

B. When the parameter is set to YES, during short pick, the system will put the order hold status until more inventory is
available.

C. When the parameter is set to Yes, then only the shorted quantity will get deallocated form the order.
D. When the parameter is set to No, the shorted quantity on the order remains in the "allocated" status.

E. When the parameter is set to Yes, the short pick will cancel the shorted order line automatically and inventory
adjustment will be generated for the item.

Correct Answer: E
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Reference: https://learn.oracle.com/ords/launchpad/learn?page=picking-modesandcontext=0:44208:44214

QUESTION 4

Your company\\'s count process has two levels: First, at the end of each quarter, the operators will need to get a list of
all the LPN numbers in every location via cycle count. Second, at the end of each month, the operators will do a spot
check for any 100 LPNs and count their content information, and to save time, they will scan each item only once and
enter the total quantity of the item marked on the inner package inside an LPN. Your company has reserve locations
only for storage and you\\'re doing the WMS Cloud configuration for the operators.

Which two tasks should you complete? (Choose two.)

A. Create a Cycle Cnt RF screen for the operators to use, and leave the content-count RF parameter blank.

B. Create a Resv Nbr Cnt RF screen for the operators to use.

C. Enable the Recount Location Detail cc_trigger.

D. Create a Cycle Cnt RF screen for the operators to use, and set the content-count RF parameter to By Sku Qty.

E. Create a Cycle count for LPN deferred/immediate updates RF screen for the operators to use, and set the sku-scan-
mode RF parameter to By Qty Scan.

Correct Answer: BE

QUESTION 5

You are performing the Split IB LPNs RF transaction and seeing an error message: Shipment Verification
status mismatch.

Which three are valid? (Choose three.)

A. The from-IBLPN and the to-IBLPN might be received against two different ASNs respectively.

B. This error message will disappear if the RF screen parameter required-validations is set up as No Validation.
C. This error message will disappear if the RF screen parameter split-uom is left bank.

D. If the to-IBLPN is received via the Recv Shipment RF transaction, the from-IBLPN might be from the Create RF
transaction.

E. The from-IBLPN and the to-IBLPN might be received against the same ASN.

Correct Answer: BCE
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